normalized X2

1072

107

10

< X2/ndf>

Ratio

< x2/ndf>

Ratio

Entries
Mean 1.052
Std Dev 0.844;

[[normalized x? probability ]

0.04f--i-- -

Entries 232096
Mean 05242

" |Lstd Dev 0.3192
232096

0.

Entries 232666
[ Mean 0.5238
+ " |std Dev 0.3193

0.0%

it 8 . M . .
Lot 8 R R
et o RUH Rt AR AR
RRS M I Tt f I ity [
o 0 2 4 6 8 10 12 14 16 18 20 o 0 0.10203040506070809 1
2 Prob(x?)
m=m== DQM_original_originalvector_1000evt
s DQM_original_1000evt
w—— DQM_fitted4_1000evt
2
i i i i i
3 -2 -1 0 1 2 3
n
IS A 2F
2 18F-
< 1.6fF-
Vo14F-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o O
T
o
0.5F

-3 —2 -1
10 10 AR(track, je}[g)



	Contents
	Page 1


